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What is it?

· An "integrated" system that ties both TcSE
and TcE together through a process.
· This allows us to standardize our process.
· Standardization comes with consistent 

improvements.



Why are we doing it this way?

· Single method of creating a change against 
an object within TcSE or TcE.

· Saves time and money on process 
management.

· Saves time and money on training.



How does it work?

· We have a process map that drives the 
functionality.

· Activators have been created to enforce 
linking which provides consistency in 
TcSE's outputs.



How does it work?

· An activator also enforces privileges with 
reason.



How does it work?

· Mandatory fields must be filled in to proceed 
with a change proposal.



How does it work?

· After all of the fields are completed correctly, 
the change proposal form will be complete.



How does it work?

· Activators have also been used to limit the 
users to one change per object.

· Required reports are necessary to 
proceed with the change proposal 
package.



How does it work?

· A change proposal note shows up once the 
package has been completed and ready to 
be routed for approval.



How does it work?

· TcE holds the approval work flow which all 
users use as the standard approval 
method.

· We had to eliminate other approval 
systems in order to help standardize this 
method.

· Activators have been created to review 
"Approved" change proposals before 
replacing it within the TcSE system.



Limitations for development:

· Absolutely no customization to the software 
used.

· Not able to start a work flow from TcSE so a 
process was developed to close this loop and 
enforced by the software's capabilities.



Future State:

· Fully integrated system so the user can 
initiate a workflow from TcSE to TcE and 
Vice Versa.



Questions?
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